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MTHI04 - Sets and Logic (Quiz # 3)

Question # 1 of 10 ( Start time: 07:45:28 AM, 28 February 2022 )

The ordinal number of {1234} is
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Select the correct option
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MTH104 - Sets and Logic (Quiz # 3)

Question # 2 of 10 ( Start time: 07:46:56 AM, 28 February 2022 )

Select the correct option
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MTH104 - Sets and Logic (Quiz # 3)

Question # 3 of 10 ( Start time: 07:47:58 AM, 28 February 2022 )

Select the correct option

Download More Quizzes Files From

@ VUANswer.com




JUlZ -

TH104 - Sets and Logic (Quiz # 3)

uestion # 4 of 10 ( Start time: 07:48:32 AM, 28 February 2022 )

elect the correct option

B Is correct
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MTH104 - Sets and Logic (Quiz # 3)

Question # 5 of 10 ( Start time: 07:50:01 AM, 28 February 2022 )

Select the correct option
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MTH104 - Sets and Logic (Quiz # 3)

Question # 6 of 10 ( Start time: 07:50:22 AM, 28 February 2022)

he ordinal number of the set P of counting numbers IS denoted

Select the correct option
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MTH104 - Sets and Logic (Quiz # 3)

Question # 7 of 10 ( Start time: 07:52:26 AM, 28 February 2022 )

Select the correct option




uestion # 8 of 10 ( Start time: 07:52:47 AM, 28 Febru

Suppose A and B are well-ordered sets, and
suppose A Is simiiar to an initial segment of B. Then
A Is said to be than B

elect the correct option

shorter

longel




Question # 9 of 10 ( Start time: 07:54:09 AM, 28 Februa

Let C be the collection of all pairs of shoes In the
world. Then the function that picks the left shoe out o

eqach pair is a choice function for C
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Question # 10 of 10 ( Start time: 07:54:43 AM, 28 Febru

Any well-ordered set A is not linearly ordered

Select the correct option

Given statement 1s true

Given statement is false.
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The ordinal ~umber of empty gotiS _ L mmm———— _

select the correct option
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MTHI04 - Sets and Logic (Quiz # 3) quiz start Time: 03:06 PM, 01 March 2022

question # 2 o110 ( Start time: 03:08:23 PM, 01 March 2022 ) Total Marks: |

Thee ardinal number of set {a,{b.c}] is
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MTHI04 - Sets and Logie (Quiz # 3) quiz Start Time: 03:06 PM, 01 March 2022

Question # 3 010 ( start time: 03:09:04 P, 01 March 2022 ) Total Marks: |

Guppaaa A cnd B ana well-ordared sste, ond suppose A g aimilar to oan initlal ssgment of B, Then & e sald to be _ than B,

ik SRl

Select the correct option
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MTHI04 - Sets and Logic (Quiz # 3) Quiz start Time: 03:06 PM, 01 March 2022
question #10of 10 ( start time: 03:06:54 PM, 01 March 2022 ) Total Marks: |

The ardinal nurmber of ampty et is

select the correct option

f:, Rebood ath Eguo

Chck 1o Sove Answer & Mova to Next Question




MTHI04 - Sets and Logic (Quiz # 3) Quiz Start Time: 03:06 PM, 01 March 2022 |

qQuestion # 7 of 10 { start time: 03:13:15 PM, 01 March 2022 ) Total Marks: |

Let 5{a) denote the collection of all initial segments of elemeants in o well-ordered set & and ket (&) be orderad by set inclusion. Than & is similar
to 5{A) and, in particular, the function f - A ~s{a) dafined by (%) = =(x) is o simiarity mopping betwean & and s(a).

select the correct option
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Given statament is falssa.
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Ghven goaterment is trus.

Click to Sove Answer & Mowve o Next Quesoon
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MTHI04 - Sets and Logle (Quiz # 3) Quiz start Time: 03:06 PM, 01 March 2022

Question # 5 of 10 ( start time: 03:10:68 PM, DI March 2022 ) Total Marks: |

an glement 'a’ in a wall-ardered set A i callec a limit alament i
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it 1= the firat alamanit

@

it hos an immediate predecessor,

O

it choea not has an immedote predeceseor and if it ie not the first elamient I

it hos on immediate predecessor ond if it ig the first slement

Click to Sove Answer & Move to Nest Question
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MTHI04 - sets and Logic (Quiz # 3) Quiz Start Time: 03:06 PM, 01 March 2022

qQuestion # 10 of 10 ( Start time: 03:18:34 PM, 01 March 2022 ) Total Marks: |

Supposa A and B are well-ordered sats, ond suppase & is sirnilar to oninitial segmeant of 8. Then B is =oid ta ba than A

select the correct option
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